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MapadoxEg:

1. YAIKG
ZKUpOOEpa :
XdAuBag
LUVOETAPEG :

2. Taon €ddagouc:

3. ZEIOYIKOI OUVTEAEOTEG

Rdx :
Rdy :

4. Mpo6RAewn opdPwWV:

5. Mévipa dopria

C20/25 Eidiké Bdpog okupodépartog: 25.00 kN/m3
B500C Bdpog dpopikng omt/dopAg:  2.10 kN/m?
B500C Bdpog pmarikrg omt/dopng:  3.60 kN/m?
EmoTpwotig dwpatog: 1.50 kN/m?
020 MPa EmoTpwoeig TAakwy: 1.00 kN/m?
6. Qeéhipa Popria
0.121 Adreda KaTOIKIWV: 2.00 kN/m?
0.115 Admeda ypageiwy: 2.00 kN/m?
Admeda eCwaTwv: 5.00 kN/m?
0 Admeda kKhipakwy KaToikiwv:  3.50 kN/m?2
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Bépa oxédiou:

—UAOTUTTOG OpOPOU

apIBuog oxediou:

2

looyelo
KAIMOKEG: 1:50 kwdikog pedétne: ANTLIOSTASIO
uTToypa®n: agppayida:
nUEPOMNVIA: 09/11/21




